Answers: Prerequisite Skills
Chapter 1

1.
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10.

a) X = 71°; acute isosceles
b) a = 113°; obtuse scalene
c) d = 27°; right scalene

d) y = 53°; acute scalene

a) 60° b) 36° c)7° d) 82°
a) 166° b) 71° c) 133° d) 8°
a) 20.8 cm b)2.2m
a)x=-85 b)x=45
c)a=15 dyd=8
a)x=8 b) x =6.3
c)x=24 d)x=6.9,y=3
. 3 4 3
. a) sm9—§, cose—g, tane—z
. 7 24 7
b) 5|n6’—2—5, cose—z—s, tane—z
c) sinezi, cosazi, tanezi
937 J937 937

No. The angle is 82°.

a) LA=77°a=95.2m,c=72.6m
b) d =10.7 km, ZE =31°, LF =54°
c) £ZM =55° ZN =39°, /P = 86°
28°

b) 150°, 330°

3
c) sin210°= —% , €08210° = _[ ,

2
tan210° = —

&l

Mathematics for College Technology 12: Teacher’s Resource
BLM 1-7 Chapter 1 BLM Answers

(continued)

Copyright © 2010 McGraw-Hill Ryerson Limited

978-07-090900-7 g



